ESTEEETEERAMAT =R —T

E¥B-BIAIFRE
(ZF1~3%)
20134128160 13BR#E

WETT-AHE RXAEER

BEEHRMA | BEFPH NECYThA HEHFB &R TB AR I

1 BEEZHEA 2—1 2—1 3—0 3—0 4-0(10-2) 1

2 TBREF R 1-2 1—2 2—1 2—1 2-2(6-6) 3

wi| 3 NECYZhA 1-2 2—1 1-2 3-0 2-2(7-5) 2

4 ETRFTB 0-3 1-2 2—1 2—1 2-2(5-7) 4

5 #WE)IETB 0—3 1—-2 0-3 1—-2 0-4(2-10) D)
ZF28)—5 S ELFEREB BIFE HEHRFC 91 ¥ —B SEBEIME RAR I

1 ZE{LFHEREB 2—1 3-0 0—3 2—1 3-1(7-5) 2

2 BIFIR 1—-2 2—1 0—-3 2—1 2-2(5-7) 3

w2 | 3 Em&RC 0-3 1—-2 0-3 1—-2 0-4(2-10) 5

4 A —B 3-0 -0 3-0 3-0 4-0(12-0) 1

5 ZESIHE 1-2 —2 2—1 0—3 1-3(4-8) 4
RF3HI—Y FRAEGMERN |BxY)a—tavX| FRALI |[Kik—LT105Z| #HE)IRFC RAE I

1 HHRREHRAR 2—1 1—-2 0-—3 2—1 2-2(5-7) 4

2 | BiavYYa—3avx -2 2—1 3-0 2—1 3-1(8-4) 1

w3 | 3 FHRE‘ET —1 1 2—1 1-2 2-2(6-6) 3

4 KIR—ILT 42T R 3-0 0-—3 1-2 1-2 1-3(5-7) 5

5 )R FFC —2 1 2—1 2—1 2-2(6-6) 2

OF#&
%
OF#&
G2
Rt

OF#&
%E
£

OF#&
Rt



EoIEEETEREAMT=R)—Y
BHR-BAFE

WEMT-Athe RXEER

(BF1~7%E)
2013%12A16H 13HRE
BR18)—5 BirvYa—arvX8|  NECYTHRA FokHE T A BUESEIHEA RAUE JIE £z
1 BirvY)a— 3> XB 2—3 5—0 3—2 3—2 3-1(13-7) 2
2 NECYZFA 3—2 0—5 2-3 2-2(8-12) 4
M1 | 8 FokEE 2-3 0—5 1—4 0-4(3-17) 5
4 BEMERTA 5—0 5—0 3—2 3-1(15-5) 1
5 RERREA 3—-2 4—1 2—-3 2-2(11-9) 3
ByoEp)—4 EEERERA Bi5#IE AR BHRGEA | srvmmmsarststo—san RAUE JE AL
1 EEEHEAA -5 1—4 0-5 2-3 0-4(3-17) 5
2 BiEBE 4—1 1—4 4—1 3-1(14-6) 2
M2 | 3 AR 1—4 1—4 3—-2 2-2(9-11) 3
4 RZHIEA 4—1 4—1 4—1 4-0(17-3) 1
5 | /I8FYZVIVRTLRYRNT—IRA 1—4 2-3 1—4 1-3(7-13) 4
BF3E)—4 BENBFAIED |YZ—LSITHFA| A TYH Bz AUk JE AL
1 TYFRLUA 1—4 4—1 3—2 2—-3 2-2(10-10) 3
2 HERIETMHH 4—1 5—0 3—2 4-0(16-4) 1
M3 | 8 Y——LSITH A 1—4 4—1 1—4 1-3(7-13) 4
4 ATV 0—5 1—4 2—-3 0-4(5-15) 5
5 X5 2-3 4—1 3—2 3-1(12-8) 2
BFagp)—4 JYFRrUB | SEL$IEHLHB KEIB Ry aA RAUb IE 452
1 BB EHERB 2—-3 3-2 2—-3 1—4 1-3(8-12) 5
2 JYFRLB 3—2 2—3 4—1 3-1(12-8) 2
M4 | 3 =ZELFERHB 2—-3 2—-3 3—-2 1-3(9-11) 3
4 FREIB 3—2 3—2 3—2 4-0(12-8) 1
5 Ry aA 1—4 2—-3 2—3 1-3(9-11) 4
BF58—5 NTTT—4MSEA| RERERARMEE)I | BARITH | BEHRH ] |StBILsi0=s2A RAUE JIE 32
1 NTTT—4MSEA 4—1 3—2 1—4 3—2 3-1(11-9) 2
2 HERARME) 5—0 0-5 0—-5 1-3(6-14) 4
M5 | 3 B A RATHE 0—5 2—-3 0-5 0-4(4-16) 5
4 BET&AT I 5—0 3—2 3—2 4-0(15-5) 1
5 ELTEILILO=HRA 5—0 5—0 2—3 2-2(14-6) 3
BFeEp)—4 HENBFOEDY|KE—LT U5 R| FHRBIEIA | ZHET14EB RAR B sz
1 B F1F 4—1 4—1 4—1 2—-3 3-1(14-6) 1
2 #HRIBTUEDLY 4—1 1—4 1—4 1-3(7-13) 4
M6 | 3 KIFR—IL T4 R 1—4 3—2 1—4 1-3(6-14) 5
4 FHREEIA 4—1 2—-3 3—2 2-2(10-10) 3
5 =S5 T1%EB 4—1 4—1 2—-3 3-1(13-7) 2
BFIE)—45 RE BRIt 54— vzmsrrnrno—ze| NTTYDRYZT7 | IBFEFHEHB Rysac RAUb JE AL
1 REEERME2— 5—0 3—2 0—5 4—1 3-1(12-8) 2
2 | IRFYZYISRT LFRYNT—Y B 0-5 0-5 1—4 0-4(1-19) 5
M7 | 3 NTTY k97 5—0 3—2 2—-3 2-2(12-8) 3
4 JBEEF#iB 5—0 2 5—0 3-1(17-3) 1
5 Ry ac 4—1 3—2 0—5 2-2(8-12) 4




FE57EEEMEERARMRT=R—Y BEHNT-AGS E2FMEES
E5R BIFE
(BF8EFEI—Y)
20134128168 13KIRE
BFxsip AJOvY BASF-A JBREF R FFA B3IV Ik BREEC | =EEFHEAHA RAb [lz4io
1 BASF-A 3—2 5—0 5—0 5—0 4-0(18-2) 1
2 TETEFHEFA 2—3 5—0 4—1 3—-2 3-1(14-6) 2
MBA| 3 =AYl S 0—5 0—5 3—2 2—-3 1-3(5-15) 4
4 BHESIEEC 0—5 1—4 2 1—4 0-4(4-16) 5
5 = ELFEIRRRA 0—5 2—3 3 4—1 2-2(9-11) 3
BF¥8ff BIOvY BRNBFAEAV|BiryYa—ravXc| HEHKRMB | ZEETHIEC H3IIJTEA RAUb NI sz
1 WS BFFAEAY 4—1 5—0 4—1 5—-0 4-0(18-2) 1
2 HiY)a—3>XC 1 5—0 5—0 5—0 3-1(16-4) 2
M8B| 3 BEH&AB 0—5 0—5 4—1 0—-5 1-3(4-16) 4
4 =EBTIEC 1— 0—5 1—4 1—4 0-4(3-17) 5
5 H3IZIJTEA 0—5 0-5 5—0 4—1 2-2(9-11) 3
B¥sip coovsy SEBITHEA | ERET-XE [REERMEETE| JUFRLC Ak 5
1 ZEEIHEEA 5—0 5—-0 5—0 3-0(15-0) 1 REET
VI8C 2 ERET=XE 0—5 5—-0 5—-0 2-1(10-5) 2
3 RESHEETLS 0—5 0—5 2—-3 0-3(2-13) 4
4 JTYFRkC 0—5 0 3—-2 1-2(3-12) 3
BF8ip DIAVY NECYTIB | BHIAEBRATC| onyn-v722057 (<o) BASF-B RAb JIE {52
1 NECYZFB 3—2 5—-0 4—1 3-0(12-3) 1 REST
V8D 2 BRI ERAC 2—3 3-2 5—-0 2-1(10-5) 2
3 ZyNYA-ITZAI77 (ZynY) 0—5 4—1 1-2(6-9) 3
4 BASF-B 1—4 1—4 0-3(2-13) 4
B¥8# EJOyY HiEA FERER HZHEEB L/RTC RAE JIE {32
1 HEA 5—0 5—0 3—2 3-0(13-2) 1 REET
mse |2 RFHEB 0—5 1—4 1—4 0-3(2-13) 4
3 HZHEEB 0—5 4—1 4—1 2-1(8-7) 2
4 L /RTC 2—3 4—1 1—4 1-2(7-8) 3
B¥8i# FIovy HRARIBE |[NTTT—4MSEB HiEB FHHE{EIB RAVE [=tiva
1 B RRE 3—2 4—1 5-0 3-0(12-3) 1 REET
sl 2 NTTT —%MSEB 2—3 2—3 3—2 1-2(7-8) 3
3 HiEB 1—4 3—2 5—0 2-1(9-6) 2
4 FHHEIETIB 0—5 2—3 0—5 0-3(2-13) 4
[B¥ei cJovy =ELA(3 | BEEHEMB| NECYTIIC [E+@zLsro=s28 RA b IE {5z
1 =ZL43 1—4 2—3 4—1 1-2(7-8) 3
mec 2 EHEEMERB 4—1 4—1 5—0 3-0(13-2) 1 REET
3 NECYZkC 3—2 1—4 3—2 2-1(7-8) 2
4 ELBEILYFO0=9ZB 1—4 0—5 2—-3 0-3(3-12) 4
B¥8¥ HIOvY IXIRLE—pih| BEHKERA| FRETA A3IJTEB AUk [[=iva
1 IXIR)LF—hHf 4—1 4—1 5—0 3-0(13-2) 1 REET
MsH |2 HETH/KEBA 1—4 0— 4—1 1-2(5-10) 3
3 FEREIA 1—4 5—0 3—2 2-1(9-6) 2
4 H3IJTEB —5 1—4 2—3 0-3(3-12) 4

REET

REET



ES57EEEMEEAT=RA)—Y
=%B BIFEF
(BFBEBRMEF—FAP)
20134128168 13KRE

BF8EIRB—F A+

#WENT-AHE RXFARER

1 BASF-A
2
M8A| 3 14
4
5
1 HERNBFTHAEA
2
M8B| 3 14
4
5
1 SEEIREA
2 L
M8C 14
3
4
1 NECY7FB
2 L
M8D 1452
3
4
1 HiEA
2 L
MS8E 1452
3
4
1 HEARER
2 L
M8F 1452
3
4
1
2 BEHETHERB
M8G L > 14z
3
4
1 IXIRILEX—dHf
2 "
M8H 1452
3
4

BRFAEA
4—1
SEEIREEA
FH&
3—1
==
3—2
SF F
HiZA
4—1
IXI R F—rh
FH&
3—2
JXHHR
3—2




